A. Choose the correct Answer;

1. What is the plural of knife? 4. What is the plural of child?

(a) knifes (b) knivess (a) childs (b) children
(c) knives (d) knive (c) childes (d) childer
2. Choose the correct plural of city: 5. Choose the correct singular for men:
(a) citys (b) cities (a) man (b) mens
(c) cityies (d) citis (c) menss (d) manes
3. What is the plural of deer? 6. The plural of tomato is:
(a) deers (b) deeres (a) tomatos (b) tomatoes
(c) deer (d) deermen (c) tomattoes (d) tomata
B. Match the Following;
1. a bunch of a) wolves
2. ateam of b) flowers
3. a bouquet of c) soldiers
4. a pack of d) grapes
5.an army of e) players
C. Fill in the blanks with correct plural forms
6. The are grazing in the field. (sheep)
7. 1 saw many flying in the garden. (butterfly)
8. The are eating bananas. (monkey)

D. Rewrite the sentences by changing the nouns to plural
1. The boy is playing with a toy.
2. A leaf fell from the tree.

3. The woman has a pot.



E. Short answer questions — Write the correct form and explain why
4. Write the plural of baby and explain the spelling change.
5. Give two examples of nouns that don’t change in plural form.

6. Why is photo not changed to photoes in plural?



